Tricky

Tricky

1. This graph tracks the weight of a dragon from its first bithday until reaching
adulthood.

Weight of Dragon

A. How much did the dragon T
weigh when it was 47 wl

B. Atwhat age did the dragon
reach its full weight?
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2. Which of these statements is false?
John's Distance from his House When Visiting
a Friend's House

A. His friend lives dkm away.

B. John got home at 14:00.

w

C. He stayed there for 4 hours.
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4, A troll and a giant grow at the same rate each year until they reach their full heights.
Growth of a Troll and a Giant
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A. Atwhat age did the giant 1 B
reach its full height? :;
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B. What was the troll's height g:é
when it was 7 years 0ld? = &
o
23
&
5
4
3
2
1
o

ﬁ 6 1 2

4 Agzstvzur:?

3. There was a storm during the day. What time did it start? Explain your answer.

Wind Speed Throughout the Day

22
20
18
2‘16
E 14
312
g 10
L]

Wind §

&
4
2
o
1

2am 2am d4am &Sam Bam 10om 12pm 2pm dpm  Spm  Bpm  10pm

&

5. Which of these statements are false?
Flight from Manchester to Tokyo via Paris

11,000 5
A. The plane stopped in Paris 10000 -
at 10:00. 9,000 =
_ 8,000 -+
BE. The plane arrived in E 7000 4
Tokyo at 21:00 g 4000 1
§ 5000 +
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é. The ‘Posher Cars’ race car had engine problems. What time did the problems start?
Explain your answer.

Time Taken to Complete a 2,500m Race
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Trickiest

A. Which decade had the
least amount of frozen sea
ice?

B. What is the difference
between the average
area of sea ice for
September between the
two decades?

A

EY

-
J

(=]

Area (1,000,000km2)
o El

-

7. Use the chart to answer the questions.

Average Area of Frozen Arclic Sea lce
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May Jul Sep Now
Months

A. Mars is coldest between
August and September.

B. The average temperature
is the same in Januvary and
May.

C. The difference between the
highest and lowest average
temperature is 24°C.
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8. Which of these statements are false?

Average Temperature on Mars
Months
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9. A space shuttle burns heavy fuel during a launch. When was the shuttle's
acceleration at its fastest? Explain your answer.
Speed of a Space Shutlle During Launch
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